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PAPER -1

Note : This paper consists of Sixty (60) multiple-choice type of questions, out of which the
candidate would be required to answer any Fifty (50) questions. In the event of
candidate attempting more than Fifty (50) questions, the first Fifty (50) questions
attempted by the Candidate would be evaluated. 50 Q x 2 M = 100 Marks

Read the following passage carefully and answer question numbers 1 to 5.

I did that thing recently where you have to sign a big card - which is a horror unto itself,
especially as the keeper of the Big Card was leaning over me at the time. Suddenly I was on the
spot, a rabbit in the headlights, torn between doing a fun message or some sort of in-joke or a
drawing. Instead overwhelmed by the myriad options available to me, I decided to just write :
“Good luck, best, Joel”.

It was then that I realised, to my horror, that I had forgotten how to write. My entire existence
is “tap letters into computer”. My shopping lists are hidden in the notes function of my phone. If
I need to remember something I send an e-mail to myself. A pen is something I chew when I'm
struggling to think. Paper is something I pile beneath my laptop to make it a more comfortable
height for me to type on.

A poll of 1,000 teens by the stationers, Bic found that one in 10 don’t own a pen, a third have
never written a letter, and half of 13 to 19 years - old have never been forced to sit down and write
a thank you letter. More than 80% have never written a love letter, 56% don’t have letter paper at
home. And a quarter have never known the unique torture of writing a birthday card. The most
a teen ever has to use a pen is on an exam paper.

Bic, have you heard of mobile phones ? Have you heard of e-mail, facebook and
snap chatting ? This is the future. Pens are dead. Paper is dead. Handwriting is a relic.

“Handwriting is one of the most creative outlets we have and should be given the same
importance as other art forms such as sketching, painting or photography.”

Answer the following questions :

1. What is the main concern of the author ?

1) That the teens use computer.

(1)

(2) That the teens have forgotten the art of handwriting.
(3) That the teens use social networks for communication.
(4) That the teens use mobile phones.

N
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e 39 TA-TF H 918 (60) Ig-fosmedta wed ¥, foH @ iR &l et off v (50) W9 1 ST
ST AT QAR R U= (50) € STfHe TRl @1 IW o7 W SHIGAR §N ¥ T we|
W(SO)WWWWWI 50 W97 x 2 37k = 100 3ih

FrAfafEa ST Tese i Aaurigde Ufeq 3T 1§ 5 a6 o U9l o ST ST

A & H HY It g fHAn SRl AU U oS HE W FEER FH B § IR I8 19 3704 319 § TH
A B, fo¥ive Safeh 39 1S 1€ 1 9RE A U 3[h1 goTl o1 | | oTareh Tt fearfa # o, 519 smrcia #
Teh TN A1 faAiequl Harg 99T 3127el S-S AU TR o o1 e i fearfd | g9 a1 3qetsy
e foshedl @ stfieg g 19 =@ faem w1 fofa fovan @ e o1, Stk ©, e

T g aeft 89 Hegw T f & o famm & @ T g1 A @ -9 o § VR W
1o T T 3 A g A 3 e e A o 1 AR T R A e ) s
TEdt &, A H 3T oy -0 AT A €| 59 H Fw - foran H werd % W S € ot § 1o wherd wem
AR | HIS F9 39 & 9 ¢ 99 & dueiv % = Thia Fa § aif Jh01 2 3T Sarg o fag s1fus
gfaursHe g 9™ |

AEET fagaretl gRT 1,000 fHR oTctehi o Taero |, foe 3 9 fof 96 100 9 T ek &
T U FAH TR €, ITH § W AR A @ Fweft v 7 faen ¥ @ 139 19 96 F o1 vt & end freni
1 FH ot e T fomen e T 9 oS IR ¥=rae W U fad | 80% W SAfeh fRSiRi A a1 weft oft g 9m
I3 Tl fer@n, 56% o TR U 95 K1 KIS Tol § 1 G & Th-SIE I 9l STAG % wre foren i S
SEHA %1 s SRR &1 T2 g3 | 3114k § a1fere afc fhet TRtk &l shetH o TI1T &1 STaeashal gs di o8
% qden 991 75 1 S| foa@H 1

foren, &1 G Sl HiGEd ®F & SR § GA1 €7 91 g 5-He, HHgeH IR T AT & IR H g
®?7 =€ vfasr T werH w1 STHE WA | HETS HSTHET TN SEACEA S (a9 T T

" TR T BEATE Haiiues Feircdeh SAfeafed € aU 38 YX@ites (Thta), Tt steen wemmh
ST el T WUl i A THH e fear s =nfen )

Fr=fafEa uvt & SO ey .

1. oEs & AT Fe?
(1) T fReR FrgeR &1 ST &3
2) TF fFeIR TeaeiE &1 el ya ™ )
(3) T forsiR W=R ¥ ARSI Jeddh 1 STFNT Hd § |
(4) T fR9IR Hemed ®F H1 ST F T |
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2. When confronted with signing a big card, the author felt like “a rabbit in the headlight”.
What does this phrase mean ?

(1) A state of anxiety (2) A state of pain
(3) A state of confusion (4) A state of pleasure
3.  The entire existence of the author revolves round :

(a) Computer

(b) Mobile phone

(c) Typewriter

Identify the correct answer from the codes given below :

(1) (a), (b) and () (2) (b) and (c) only
(3)  (b) only (4) (a) and (b) only
q. How many teens, as per the Bic survey, do not own a pen ?
(1) 500 (2) 100 (3) 800 (4) 560
5. According to the author, which one is not the most creative outlet of pursuit ?
(1) Sketching (2) Reading
(3) Handwriting (4) Photography
6.  Which of the following statements is true in the context of the testing of a hypothesis ?

(1) Both, the alternative and the null hypotheses can be tested.

(2) Both, the alternative and the null hypotheses cannot be tested.
(3) It is only the alternative hypothesis, that can be tested.
(4) It is only the null hypothesis, that can be tested.

7.  Ethical norms in research do not involve guidelines for :
(1) Patenting policy (2) Data sharing policies
(3)  Thesis format (4) Copyright

8.  Which of the following are the characteristics of a seminar ?

(a) Itis a form of academic instruction.

(b) It involves questioning, discussion and debates.

(c) Itinvolves large groups of individuals.

(d) It needs involvement of skilled persons.

Select the correct answer from the codes given below :

(1) (b, (©) and (d) (2) (a), (b) and (d)
() (b) and (o (4)  (b) and (d)

soo RN VAC
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. TF IS HIE W KRR FT HI 914 3T, A @ &l ' SR § forelt @wie’’ S egvd gen | 39

e 1 7 A ®?

(1) gfeeran =t feafa (2) o i fefq

(3) e =i feafd (4) g i feufa
. WE® & HYul g % T8-T1R T 2

(a) FFHR

(b) TEEA ®BIF

(c) CRIIEX

e o T Fe 9 Wl S| F I HI

1) (a), (b) 3 (o) (2) e (b) ¥R (c)

(3) e (b) (4) A (a) AR (b)

. To= & 9w & AR, fhad fReRl & 99 &S wow TEé g 2

(1) 500 2) 100 (3) 800 (4) 560

. OE® & IER, FrAfafed # & 1 w1 w1 gaitys geHere stfyeafa @ 82

(1) Y@= S (FhT) (2) e

(3) TEEd (4) TRIERRTH!

. Trefafad § 9 $R-w1 wor Tt aieea & ghem & g & w272

(1) Sehfcqs T T SHI IReBTIISH T G0 fhal ST Hehall 1
(2) Shfeusk TE T A UReeT 1 qher TEi fhan S wehdr 2|
(3) I% Had dehfeqsh TRhTUT ¢, et qdterr fhan S gahar 2|
(4) I A T URewed ¢, TEeR whe foman s w2 |

. T o 9 s fau v & o= et gl & feafaes snfte =18 81 ?

(1) e Aifa (2) =T I Hifa
(3) WY Y&y (4) TETHHR (HIE)

. Trfafed § & FR-99 fee Sftr 5t fadand €2

(a) 98 T THGEITH ST H THR ¢ |
(b) THH U w1, T U ae-faare mita 1
() T8 A & oS Te MAd 2 ¥

(d) =HH REIH AfHEl w1 Wi w1 SATTLIHRA Bl |

2 fou 7T F2 B WE W F1 T HIC ;
(1) (b), (c) ¥R (d) 2)  (a), (b) 3R (d)
(3) (b) ¥R (c) (4)  (b) &R (d)
soo [{[{LMAVAIANO0 ARV s
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11.

12.

13.
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Which of the following are the basic rules of APA style of referencing format ?
(a) Italicize titles of shorter works such as journal articles or essays

(b) Invert authors’ names (last name first)

(c) Italicize titles of longer works such as books and journals

(d) Alphabetically index reference list

Select the correct answer from the codes given below :

(1) (9 and (d) () (), (), (©) and (d)

(3) (a) and (b) (4) (b (0) and (d)

Greater the handicap of the students coming to the educational institutions, greater the
demand on the :

(1) Teacher (2) State (3) Family (4) Society

What are required for good teaching ?

(a) Diagnosis

(b) Remedy

(c) Direction

(d) Feedback

Select the correct answer from the codes given below :
(1) (b), (0) and (d) (2) (9 and (d)
(3) (@), (b), (©) and (d) (4) (a) and (b)

As Chairman of an independent commission on education, Jacques Delors report to UNESCO
was titled :

(1) Learning : The Treasure Within

(2) World Declaration on Education for All
(3) International Commission on Education Report
(4) Millennium Development Report

Which of the following statements is not true in the context of participatory research ?

(1) Itis a collective process of enquiry.

(2) Its sole purpose is production of knowledge.
(3) It recognizes knowledge as power.
(4) It emphasises on people as experts.

=)}
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frfafed & @ #H-%1 TH.U et F Gy ey F g frem 2
(a) B Hiadl S A w3t ey, & v fas w fad
(b) @RI o A I Hleh for@ (SAfaH M T)

(c) I Hiaal S T Ta Sd, & wMeen ST s fad

(d) Hcv g wfaftedi &1 auigwa § g &l

T 3T T e & W& IW H =TT HIC
(1) () ¥R (d) ) (@), (b), () &R (d)
(3) (a) 3R (b) (4)  (b), (c) 3R (d)

Sheaforen e o ST o B 1 FSIaT STeTd ST, At 2fue STded
1) fremam (2 T () URERARMI  (4) FASH I

3= foreror & feru sRm-amn emaferq € 2

(a) frem

(b) SR

() Frw

(d) wfgfte

= QT 7T e ¥ W SN AT 991 HIWT :

(1) (b), () 3R (d) 2) (0 ¥R (d)
(3) () (b), (0) ¥R (d) 4) (a) ¥R (b)

foren & &7 H T WA SN & ALY % ®9 H AR HI TG H T8 Sk feard i Ul @
i o

(1) @fT: g R fafed

(2) dce femiy™ A TIHTH &R 31fa
(3) ITIIAA YA A Tk R
(4) THaf=Em saaaHe Rae

frefafed § & ®F-W FuF Feur STIguH & Gy § 9 & 72
(1) ¥ = H1 Tk FHfesh iha 2 |

(2) HH THATH ¥ JE HT AT |

(3) I8 IM H I % ®9 H TgAEd 7

(4) ¥E A ! foRivR AT W SR S@ R
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14. Which one of the following statements is correct in the context of multiple - choice type
questions ?

(1) They are more subjective than short-answer type questions.

(2) They are more subjective than true-false type questions.
(3) They are more objective than true-false type questions.
(4) They are less objective than essay type questions.

15. What are the characteristics of Continuous and Comprehensive Evaluation ?
(a) It increases the workload on students by taking multiple tests.
(b) It replaces marks with grades.
(c) It evaluates every aspect of the student.
(d) It helps in reducing examination phobia.
Select the correct answer from the codes given below :
(1) (), (b) and (0 (2) (b}, () and (d)
(3) (@) (®), (© and (d) (4) (o) and (d)

16. A researcher is interested in studying the prospects of a particular political party in an urban
area. What tool should he prefer for the study ?

(1) Questionnaire (2) Schedule (3) Rating scale (4) Interview

17. Which of the following attributes denote great strengths of a teacher ?
(a)  Full-time active involvement in the institutional management
(b)  Setting examples
(c) Willingness to put assumptions to the test
(d) Acknowledging mistakes
Select the correct answer from the codes given below :
(1) (@) (© and (d) ) @, ®), (© and (d)
() (@) (b and (d) (4) (), ©) and (d)

18. P and Q are brothers. R and S are sisters. The son of P is brother of S. Q is related to R
as:

(1) Uncle (2) Father (3) Son (4) Brother

19. Every type of communication is affected by its :

(1) Non-regulation (2) Context (3)  Reception (4) Transmission

soo RN VAC
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20. Most often, the teacher - student communication is :
(1) Utilitarian (2) Confrontational (3) Spurious (4)  Critical

21. The next term in the series :
B2E, D5H, F12K, H27N, __ ? _ is:
(1) Q62 (2) 158Q (3) J56l (4) 162Q

22. Consider the argument given below :
‘Pre - employment testing of teachers is quite fair because doctors, architects and engineers
who are now employed had to face such a testing.’
What type of argument it is ?
(1) Psychological (2) Biological (3) Deductive (4) Analogical

23. A definition that has a meaning that is deliberately assigned to some symbol is called :
(1) Stipulative (2) Persuasive (3) Lexical (4) Precising

24. A party was held in which a grandmother, father, mother, four sons, their wives and one
son and two daughters to each of the sons were present. The number of females present in
the party is :
(1) 18 (2) 24 3) 12 4) 14

1

25. A group of 210 students appeared in some test. The mean of grd of students is found to be
60. The mean of the remaining students is found to be 78. The mean of the whole group will
be :
(1 74 (2 72 (3) 80 4) 76

26. In a classroom, a communicator’s trust level is determined by :
(1) the use of abstract concepts (2) eye contact
(3)  the use of hyperbole (4) the change of voice level

27. Anil after travelling 6 km towards East from his house realized that he has travelled in a
wrong direction. He turned and travelled 12 km towards West, turned right and travelled
8 km to reach his office. The straight distance of the office from his house is :
(1) 12 km (2) 10 km (3) 20 km (4) 14 km

soo |[RIND AR 1
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28.

29.

30.

31.

32.

33.

The main objectives of student evaluation of teachers are :

(a) To gather information about student weaknesses.

(b) To make teachers take teaching seriously.

(c) To help teachers adopt innovative methods of teaching.

(d) To identify the areas of further improvement in teacher traits.
Identify the correct answer from the codes given below :

(1) (a), (b) and (c) only (2) (a) only

(3) (a) and (b) only (4) (b), (c) and (d) only

If the proposition ‘No men are honest’ is taken to be false which of the following proposition/
propositions can be claimed certainly to be true ?

Propositions :
(1) Some men are not honest (2) No honest person is man
(3) All men are honest (4) Some men are honest

Aspects of the voice, other than the speech are known as :
(1) Para language (2) Delivery language
(3) Physical language (4) Personal language

Attitudes, actions and appearances in the context of classroom communication are considered
as :

(1) Impersonal (2) Irrational (3) Verbal (4) Non-verbal

Consider the following assertion (A) and reason (R) and select the correct code given
below :

(A) : No man is perfect.

(R) : Some men are not perfect.

(1) (A) is true but (R) is false.

(2) (A) is false but (R) is true.

(3) Both (A) and (R) are true but (R) does not provide sufficient reason for (A).
(4) Both (A) and (R) are true and (R) provides sufficient reason for (A).

The next term in the series
2,5,10, 17, 26, 37, ? is :
62 (2) 72 (3) 50 (4) 57

1)
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28.

29.

30.

31.

32.

33.

forenfofaii g1 forershi & HoAieha & A ¥ © ¢

(a) Toenfefai o6t HASIRAT & 9N H SHEART Tohs LA

(b) Torerem =i foreror el TRl | T 1 WY AT

(c) Toreror &t et fafer st & forerenl &t wewdr ST
(d) Torer & TN H IR Afersh YUR % &1 1 UgEH HIAT|

9 o3 T %2 9 WE SW H T Hi
(1) e (a), (b) &R (c) (2) a9 (a)
(3) e (a) 3 (b) (4) e (b), () N (d)

fg qehaTer g STICHT SHMER 2l €' =1 TTerd AT ST © dt Frefefaa qehere /dehamedl § @ fondl
Fafyaraeao wet 29 1 <@ fhan S wehar § 2

qehaTe :

(1) Fo et AR & € (2) T AMER AR e T ¥
(3) @t eTeHt TR | (4) F EH TAMCR B |

Ul o ST SAETS & TR i ST Il & ¢

(1) 909 % &9 H (2) T v % w9 H

(3) IMRe A o €9 H (4) Jafoeas v F &9 A

FHefl W90 % Hed ¥ gegiad, wEf ud yehed i fohd w9 H wHen S ?
OEERIESED 2) oTETE (3) wmfsIen (4) oTnfss®

frefafaa sifuesrem (A) @R @eh (R) W =R FifST iR fTu 0 Fe & W& W &1 997 HIfT
(A) : TS STEHT Ui T

(R) : TS 3TSH Ui 781 & |

1) (A) ¥ T, T (R) 19 1

2) (A) IHA T, T (R) T T

3) (A) R (R) I & € R (R), (A) F forw qafe ok geqa &l < j)

(4) (A) 3R (R) I T ¥ R (R), (A) & foIu = qoh Tqd il § |

3T e T ST T FAT B 2
2,5,10,17, 26,37, __?
1) 62 2) 72 (3) 50 4) 57

soo  HARAIA VAL s riro



34.

35.

36.

37.

38.

39.

soo RO VAL

A Cluster of propositions with a structure that exhibits some inference is called :
(I) An explanation (2) A valid argument

(3)  An inference (4) An argument

Among the following propositions two are related in such a way that they can both be true
although they cannot both be false. Which are those propositions ? Select the correct code.

Propositions :
(a) Some priests are cunning.
(b) No priest is cunning.

(c) All priests are cunning.

(d) Some priests are not cunning.

Codes :
(1) (a) and (o) (2) (a) and (d) (3) (a) and (b) (4) (c) and (d)

Using the central point of the classroom communication as the beginning of a dynamic pattern
of ideas is referred to as :

(1) Idea protocol (2) Mind mapping

(3) Systemisation (4) Problem - orientation

Public Order as an item in the Constitution figures in :
(1) the Concurrent List (2) the Residuary Powers

(3) the Union List (4) the State List

Which of the following is not an input device ?

(1) Joystick (2) Monitor (3) Microphone (4) Keyboard

Which among the following States has the highest number of seats in the Lok Sabha ?

(1) Tamil Nadu (2) West Bengal (3) Maharashtra  (4) Rajasthan

—
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35.

36.

37.

38.

39.
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HIFATETS Tt 1 E, S 3 R yefiid widt 7, Hed €
1) TH ST 2) TH Y T
(3) TH frehd (4) THTh

Freafafad ahamrRl | <1 56 @ ¥ Fafd € foh 3 <H1 921 2 Wehd © F=fy o ST TTerd e 8l 9ehd © |
3 THATH HITE E? WE e HT =TI HIfoC |

AehdTeT :

(a) P9 I o B €

(b) T IO o e <

(©) | TSI o e €|

(d) FS IR o T & €

E T

(1) () 3N () 2 (a) ¥R (d) (3) (a) ¥R (b) (4) (o) ¥R (d)

foramdl o Tfaeiiel Yot &1 Y%t & foru wam Whuvr 1w foag & ®9 H TR Hmdl ¢
(1) fo=R deeRa (2) =i fe=o

(3) T (4)  FHE-3HETH

Hfgum # th U & ®9 § A Faen fefataa § 9 fead et § 2
(1) wHed =t o (2) srafire wfwmal §
3) "I H 4) TEgAH

frefafaa & @ % faeh (39e) fearg & €2
(1) SiafEs (2) HHRX (3) HISHITBH (4) HES

frfafad Tsai § 9 forg T9 1 <leh 991 | Hiel i S& Haitesh g ?

(1) dfHerrg (2) U=\ S (3) WER (4) TSEAH

p—
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41.

42.

43.

44.

45.
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Which of the following is an open source software ?
(1) Mozilla Firefox (2) Acrobat Reader

(3) MS Word (4) Windows

NMEICT stands for :

(1) National Mission on E-commerce through ICT
(2) National Mission on E-learning through ICT
(3) National Mission on Education through ICT

(4) National Mission on E-governance through ICT

Which of the following enables us to send the same letter to different persons in MS Word ?

(1) Mail insert (2) Mail merge (3)  Mail join (4) Mail copy

The term of office of the Advocate General of a State is :
(1) 6 years or 65 years of age whichever is earlier

(2) not fixed

(3) 4 years

(4) 5 years

As part of National Climate Change Policy, Indian government is planning to raise the
installed capacity of renewable energy by the year 2030 to :

(1) 250 GW 2) 350 GW 3) 175 GW (4) 200 GW

At present, in terms of per capita energy consumption (kWh/year), identify the correct
sequence.

(1) Russia > China > Brazil > India (2) China > Russia > Brazil > India

Brazil > Russia > China > India (4) Russia > China > India > Brazil

—
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40. Tr=fafas § 9 =9 v\ 99 giRees €2
(1)  wifSTee HRREH (2) THEE =X
() THTHITE @4) fae=

41, TATHIME I H1 e 7 :
(1) era faee o - o ome .
2) v fHeH S 3-afT o e HL A
(3) Tera faeH o7 TReE o oTE E A
(4) v faee T -werg o omE WA,

42. Trefafed § 9 %1 36 T & 79 ) TI.TE. 9€ ¥ fafie safaqdl &1 a9 § 99d a9 g 2
(1) =9 39 (2) #Ha TS (3) Hd SaTEd (4) ¥Ha wA

43. TH o9 o HEIe I RS ordl § ©
(1) 699 TaT 65 T8 &1 3T S +fF Tget &
) Treffa & ®
(3) 47
(4) 5

44. TEHE A IREAT Ffd & 9N F €9 H, YR TEHR ®1 T8 2030 T TAH0MT Sell bl G
&THAT 1 FHEl qF oG i IS § ?

(1) 250 GW 2) 350 GW (3) 175 GW (4) 200 GW

45. IdqH #, 9fq =afa et @ua (feelt ame ser/ad) & ded d, & 7 =1 Jgum Fifee |
1) &9 >=H > 9id > 9Rd (2) =H > %G > IEid > 9Rd
(3) oS > ®H > = > qRd (4) ®F>EM > YRd > TS

soo IR
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47.

48.
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The grounds on which discrimination in admission to educational institutions is constitutionally
prohibited are :

(a
(b
(c) Place of birth

) Religion

) Sex

(d) Nationality

Select the correct answer from the codes given below :

(1) (@) (b and (d) () (@) () () and (d)
(3) (), () and d) (4) (@) (b and (9

Inside rural homes, the source/sources of Nitrogen Oxide Pollution may be :
(a) Unvented gas stoves

(b) Wood stoves

() Kerosene heaters

Choose the correct code :

(1) (b)only ) (@), (b)and ()

(3) (a) and (b) only (4) (b) and (c) only

Which of the following statements are correct about Lok Sabha ?
(a) The Constitution puts a limit on the size of the Lok Sabha.

(b) The size and shape of the Parliamentary Constituencies is determined by the Election
Commission.

(c)  First - past - the Post electoral system is followed.

(d) The Speaker of Lok Sabha does not have a casting vote in case of an equality of votes.
Select the correct answer from the codes given below :

(1) (@), () and (d) 2) (@), (b), (c) and (d)

(3) (a) and (c) (4) (), (b) and ()

In a Computer a byte generally consists of :

(1) 16 bits (2) 10 bits (3) 4 bits (4) 8 bits

—
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46. Srerforer Heeneli O yaw # foha Rl W fRT S 91el gedTa 1 Haunfaes w9 9 iy fea R ?
(@) wd
(b) fefm
(c) STH¥ME
(d) T
= U T e # ¥ W& I F TIH HIWT
(1) (a), (b) 3 (d) (2) (@), (b), () ¥R ()
(3) (b), (o) ¥R (d) 4)  (a), (b) ¥R (0

47. IO IR H, SIS SHHIES YU H1/F FIG & Tehdl &/ FHA § ¢
(a) ¥ Fem =t gfaurfed 1 e

(b) T R

() Tt de1 =t Erex

WEl e T =TI HIWT

(1) & (b) 2  (a), (b) 3R ()
(3) 9 (a) 3R (b) (4) A (b) 3 ()

48. T |91 % Heg § frfafed § 9 ®F-9 % 98 Q2
(a) Tfau™ | TR 91 %k TS H WA HI HH I FTE
(b) EuSE fate & & i iR R fatem smem g fgifa f s <)
() WR-TR=-T U frafem gomeft oTomg it 1
(d) Tl % TEE wA H feafa o cwgeet % ag fotas 7a T2 g § )

= fST T e | | W& ST 1 =AT HIWC
1) (@), () IR (d) ) (@), (b), (0) &R (d)
3) (@) &R (0 4) (@), (b) ¥R (o)

49. TS HTR § TH 915 B qHI: WA 81 ¢
(1) 16 fazd (2) 10 feozH (3) 4fazm 4) 8 fazm
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Which of the following are the objectives of Rashtriya Uchchatar Shiksha Abhiyan
(RUSA) ?

(a) To improve the overall quality of state institutions.

(b) To ensure adequate availability of quality faculty.

(c) To create new institutions through upgradation of existing autonomous colleges.
(d) To downgrade universities with poor infrastructure into autonomous colleges.
Select the correct answer from the codes given below :

(1) (), () and (d) (2) (a), (b) and (d)

(3) (), (b), (c) and (d) (4) (), (b) and (0

Which of the following is an instant messaging application ?
(a) WhatsApp
(b) Google Talk

(c) Viber

Select the correct answer from the codes given below :

(1) (a) only () (@), (b) and (©)
(3) (a) and (b) only (4) (b) and (c) only

Assertion (A) : People population control measures do not necessarily help in checking
environmental degradation.

Reason (R) : The relationship between population growth and environmental
degradation is rather complex.

Choose the correct answer from the following :
(1) (A) is true but (R) is false.

(2)  (A) is false but (R) is true.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
Which of the following phenomena is not a natural hazard ?

(1) Landslide (2) Chemical contamination

(3) Wildfire (4) Lightning

Which of the following pollutants can cause cancer in humans ?

(1) Lead (2) Ozone (3) Pesticides (4) Mercury

N
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50.

51.

52.

53.

54.

T 3= foren s1fam (R TE.T.) % fefated § 9 #1 2w § 2

(a) HIRRI GEAR Sl FHY [UE H GUR KT |

(b)  T[UTETYUl WAl T TAT ST FAITd HTA |

(c) THM TEId HElaemerdl % e/ o HIeAH 9 75 EATT Jrord HT |

(d) STHAT TTEAT ATt favafa=erdl 1 W Helaarerdl § STHRo HLT |
I U 7T Fe & T A& W H1 =TI HIGT

1) (@), () IR (d) ) (a), (b) &R (d)

3) (@), (b), (0) &R (d) 4)  (a), (b) ¥R (0)

frefafad § 9 %19 TF s9de TAfNT Tefiey 8 ?

(a) =rEU

(b) TS TR

(c) dmEsR

9 ST 7T Fe ¥ | W I H 997 FIWT

(1) e (a) 2) (a), (b) ¥R (o)

(3) e (a) 3N (b) (4) ke (b) AR (c)

AR (A) :  SHEEA T & U § ifare €9 9 THER0 g &l Uk § WG T8l Herdl
7

qh (R): STTHE gig iR e g™ % o H gy Sed )

frfafed 9 W& S &1 =991 ST

(1) (A) ¥4 & T (R) 319A §

2) (A) FEA 8, W (R) A 2|

(3) (A) 3 (R) SFT & € 3R (R), (A) 1 el TR T |
(4)  (A) ¥R (R) THT T €, T (R), (A) F1 Tl TR0 7 €

frfafaa § @ FH-9F 5121 T Thids @ & € ?

1)  JEEeH (2) TEETE Hu
(3) T (4) fosteft Sigmm

frefafaa & 9 fFg Ugus & FRO AFE F HT S Fha1 § 2
1) H=n (2) FSH (3) HIEARTH (4) U

soo  HARAIA VAL 21 riro



Given below in the table is the decadal data of Population and Electrical Power Production of

a country.
Year Population (million) Electrical Power Production (GW)*
1951 20 10
1961 21 20
1971 24 25
1981 27 40
1991 30 50
2001 32 80
2011 35 100
*1 GW =1000 million watt

Based on the above table, answer the questions from Sl. No. 55 to 60.

55.
56.
57.
58.
59.

60.

soo RO VAL

In which decade, the average power availability per person was maximum ?
(1) 2001-2011 (2) 1971-1981 (3) 1981-1991 (4) 1991-2001

In the year 1951, what was the power availability per person ?
(1) 400 W (2) 500 W (3) 100 W (4) 200 W

Average decadal growth rate (%) of population is :
(1) ~6.73% (2) ~5% B) ~12.21% (4) ~9.82%

Based on the average decadal growth rate, what will be the population in the year 2021 ?
(1) 37.28 million  (2) 36.62 million  (3) 40.34 million (4) 38.49 million

By what percentage (%) the power production increased from 1951 to 2011 ?
(1) 600% (2) 900% (3) 100% (4) 300%

Which decade registered the maximum growth rate (%) of population ?
(1) 1991-2001 (2) 2001-2011 (3) 1961-71 (4) 1971-81

-00o0-
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Frtafaa arfeent ® <91 &t STaTd 3R fomra StaTe & g9TehTTa 3tiehe fau T ¥

EL street (fafaas =) fere[d Seures (7 =) *
1951 20 10
1961 21 20
1971 24 25
1981 27 40
1991 30 50
2001 32 80
2011 35 100
* 1 7 e = 1000 faferae e

ST ATfCTaRT oh TN T YIT HE&AT 55 | 60 % I ST |

55. fwa <o o, ufd =afeq forpa 1 siiaa Sucrsud waifyen of ?
(1) 2001-2011 (2) 1971-1981 (3) 1981-1991 (4) 1991-2001

56. 991951 H, 9fd =afea forqa 1 Iucteudn ferat off ?
(1) 400 3T (2) 500 AT (3) 100 T (4) 200 9=

57. STETRT H1 AEd < g (%) FME?
1)~ 6.73% 2 ~5% 3) ~12.21% @)  ~9.82%

58. Td T g R F MR R 99 2021 H 3@l fora=t grft ?
(1) 3728 fafasw  (2) 36.62 fafaad  (3) 4034 fafaas (4) 38.49 fafaaa

59. 3% 1951 § 2011 % o= fora wfaera & faga sScureq  gfg g€ €2
1) 600% 2) 900% 3) 100% 4) 300%

60. ST il Hellfesh fg X (%) T g9 4 < 1 T2
(1)  1991-2001 (2) 2001-2011 (3) 1961-71 4) 1971-81

-00o0-
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